How is a Valid Lexile obtained?

Total Reader uses a scoring engine based on the Lexile Framework for Reading to continuously perform assessments. The Lexile scoring engine delivers a score ranging from 200L to 1800L. When students begin using Total Reader, they receive their first approximate Lexile scores after taking the initial diagnostic test, which requires only 5 responses. This is not yet their valid Lexile score – just an approximation. This quick approximation of the student’s Lexile level is so he or she can begin using the program. Since this first approximate score is based on such a small sample of the reader's ability, it merely serves as a starting point. The Lexile score is not considered truly representative of reading ability until students have completed a minimum of 45 cloze items (5 in the initial diagnostic plus 40 in passages they select). This is then their first Valid Lexile.
The scoring engine performs a series of scientifically valid assessments based upon the results of every passage the reader completes. It automatically records adjustments to the Lexile score, whether high or low, to establish a student's performance level. Fluctuations up or down in the score during this process are normal. 
It is important to note that these continuous adjustments to a student’s performance record are not affected if the student closes out of a passage before responding to a final question. The statement "You have finished the story" is followed by the question "Did you enjoy it?" (Note that this message does not display until the reader has filled in all of the blanks.) When the reader responds by clicking “Yes” or “No,” the scoring engine is activated. Accordingly, the student’s Lexile score does not reflect the results from a passage only if he or she closes out before clicking "Yes" or "No.”
When a student has completed enough cloze items to reach a Valid Lexile, that score is displayed below the student’s name in their passage reading window. Until the score displays in this location, the student does not have a Valid Lexile. This picture shows where the Valid Lexile score appears:
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After a student has reached a Valid Lexile, Total Reader continues to evaluate the most recent 40 cloze item responses, factoring them into the record of the student’s progress. Based upon the most current sample of performance (the last 40 responses), the student’s Lexile will increase, decrease, or stay the same. Therefore, if a student answers 8 responses today the program will evaluate the 8 today plus the preceding 32 responses, for a total of 40. The Lexile level of the passages the student will be able to access will adjust accordingly, always remaining within 100 Lexiles above or below the student’s updated Lexile level. This is how Total Reader ensures that students consistently see only passages that match their reading abilities.
